


— Gy T

.............................................

...............................

...............................

.............................

Loading Capacity................cocoeiviiiiinnl. .7

M*RAK Cable Ladder Technical Guide........... 8

GRP G Series Ladder, Extra Heavy Duty........ 9

GRP G Series Ladder, Heavy Duty................ 10
GRP G Series Ladder, Medium Duty.............. 11
GRP Cable Ladder (Horizontal Elbow)........... 12
GRP Cable Ladder (Equal/Unequal Tee)......... 13
GRP Cable Ladder (Crossover)..................... 14
GRP Cable Ladder (Riser)..........oevvvvneeiiinnns 15
GRP Cable Ladder (Reducer)............ccovvvennns 16
GRP Cable Ladder (Accessories).................. 17
M*RAK Cable Tray Technical Guide............... 18
GRP Cable Tray (Straight)............................ 19
GRP Cable Tray (Horizontal Elbow)................ 20
GRP Cable Tray (Crossover).............ccc.c....... 21
GRP Cable Tray (Angle Riser)....................... 22
GRP Cable Tray (Reducer)........................... 23
GRP Cable Tray (Accessories)...................... 24
GRP Cable Tray (Accessories)...................... 25

Bolting Accessories...............ccooviiiiiiiiii,




M%RAK GRP CABLE MANAGEMENT SYSTEM

What is GRP?

Glass-Fibre Reinforced Polymers are composite products made of glass fibre and polymer
resins, which when combined, offers a range of improved chemical and mechanical properties
such as better corrosion resistance, longer durability, and better fire resistance, as compared
with metallic products.

Mats
Give the profiles its

waverse omiorcement 1 NE PUltrusion Process at a glance

Thermostat Resin
Bonds with the
reinforcement

Protective
Surface Veil Control Panel
Continuous monitoring

of critical parameters

Puller gripper mechanism
Assures continuous drawing
of the profile

Cut-off Saw

Infeed Plate
Pre-positioning
of the rovings

Rovings Heated Die

Unconventional glass Forms the shape of the
fibres give longitudinal profile, place where
reinforcement of the polymerisation or curing
profile takes place
GRP Manufacturing Flow Chart The pultrusion process starts with racks or creels

holding rolls of fiber mat or doffs of fiber roving. This
raw fiber is pulled off the racks and guided through
a resin bath or resin impregnation system. Resin

can also be injected directly into the die in some

INSPECTION pultrusion systems. As the resin rich fiber exits the

resin impregnation system, the un-cured composite

@ material is guided through a series of tooling, which

helps to arrange and organize the fiber into the

correct shape. Continuous strand mat and surface

@ @ veils are added in this step to increase structure

and surface finish. The impregnated fibers are
then passed through a heated steel die to obtain
the desired cross section. Curing of the thermostat
resin is initiated by heat in the die and catalyst in the
FINISHING resin. The profile that exits the die is now a cured

pultruded Glass-Fibre Reinforced Polymer (GRP)

composite. The GRP profile is pinched and pulled

by a “gripper” system continuously. At the end of
e this pultrusion machine is a cut-off saw, where the
GRP profile will be cut to length and ready for use.
Our profiles are made up of more than 50% glass-
fibre content to ensure mechanical integrity.

FABRICATION

&
ASSEMBLY




M*RAK GRP CABLE MANAGEMENT SYSTEM

hy use GRP Products?

At Tri-Star, we are committed to fulfilling the requirements of _
our customers and to provide them with the added engineering
value in all our offers. M*RAK GRP composites have many
advantages over traditional materials such as steel or =
aluminium, which greatly minimises maintenance, significantly
reducing the cost of ownership of the product over its project 4
life span.

This improved technology has r/
led to improved durability and Eg '/ Al
strength in hostile and corrosive
environments such as fuel storage
tanks, chemical process plants,
seawater desalination plants,
wastewater treatment plants, e
semiconductor plants, power Y e f
generator facilities and many " gysting of metallic trays in GRP cable ladder
more. a corrosive environment

Benefits of using M*RAK GRP products

» Corrosion Resistance
GRP Products have excellent performance when used with most traditionally corrosive
substances and are suitable for use in most harsh and saline conditions in offshore and
marine environments. This property is often the primary reason for choosing GRP.

* Minimal Maintenance
GRP Products contain Ultra-Violet stabilizers and are further complimented with an external
surface veil ensuring a longer life span than steel products.

* Light Weight
GRP Products are lighter than structural steel by 15% to 20% on average while still
maintaining high strength.

* Toughness
Laminates are designed to withstand exposure to impact, abrasion, heat and cold.

* High Strength
GRP composites have a higher tensile strength than structural steel on a weight to weight
ratio. Our products are made up of more than 50% glass-fiber content to ensure mechanical
integrity.

* Low Thermal Conductivity
GRP Products have low thermal conductivity and are non-conductive which means that the
effects of fire are localised.

e Easy Installation 7
GRP Products are easily cut and drilled using simple hand metal-working tools. Modifications
can also be made simple and there is no need for re-galvanising of cut edges. 2
* Low Expansion/Contraction ‘
There is less movement in response to temperature changes. 7

* Fire Retardant
Self-extinguishing, to BS 476 Part 1.

* New Patented Stainless Steel Ring Insert
Stronger and more stable rungs.

* UV-Resistant
Maintains physical integrity when used in outdoor installations.




TECHNICAL SPECIFICATIONS

M*RAK GRP Cable Trays and Ladders system complies with international standards in the areas as follows;

TESTS AND STANDARDS

Load Tested to Available in Barcol Hardness tested to
NEMA FG-1:1993 Polyester, Acrylic, Phenolic ASTM D2583

Flame Propagation and Modar resins Self Extinguishing to

BS 476 Part 6 Oxygen Index UL94-VO

Halogen Free to ASTM D2863-10 Ultraviolet (UV) Resistance
IEC 60754-1 Material Content All M*RAK GRP Products have
Fire Rating More than 50% glass fibre additional surface veils added for
BS 476 Part 7 Water Absorption to UV resistance, to ASTM G154
ASTM E84 Class 1&2 ASTM D570

Working (Allowable) Load

The Working load it ts the destruction load
capacity, with a minimum of 1.5 safety factor. SBN INDUSTRR; S SDN
BHD

Load Classifications (NEMA FG-1-1993)

Class | Working Load Support Span IVI*RAK
A 50 Lb./Linear Ft. (74.4 kg/m) 20 Ft. Cable S"Pport S
B 75Lb./Linear Ft. (111.6 kg/m) 20 Ft. 'YStem
C 100Lb./Linear Ft. (148.8 kg/m) 20 Ft.

We are
BV-certified to ¢

De i
Struction (Until Coﬂapse)
DATE . 7th Sept. 2019

Mahdzir
(ASST. MR

Mr, Abd. Latif d
(BUREAU VERITAG)




RECOMMENDED SUPPORT

AS PER NEMA STANDARD

As per NEMA FG1, splice plate is recommended to be
located at 1/4 of the span from the support,
| where the bending moment is zero.

SUPPORT LOCATION
N 2'0" max 2'0" max
i (600 mm) (600 mm)
I | |
| -
| ! !
< .
' g OFFSET REDUCER
2'0" max
(600 mm) @=30° 45°,60°, 90°
HORIZONTAL ELBOWS
2'0" max L 2'0" max
[ (600 mm) 1L (600 mm) |
@=130°,45°,60°,90° 2' 0" max [ 1 |
— (600 mm) N
~ | $ / \ %
/ \
</ S/ N
: - | ~¢ N |
: ! | / \ |
. | i i
!\'\ AN ; l > § % I
| | L1
N N = =
I N 5E
. g E
! 2' 0" max /
o0 @ =30°, 45°, 60°, 90 AN T
VERTICAL ELBOWS HORIZONTAL TEE
| |
" 1
| | $
2'0"max r 1 - 2'0"max
(600 mm) | | (600 mm) 2'0" max 20" max
| ! ! (600 mm) | | (600 mm)
I I
% : | AR N A i
| T o=
| o gE
8 e ~E
B M
HORIZONTAL CROSS VERTICAL TEE



“1sanbas uodn ajqejieae osje ale sueds 1oddns Jay10 UO speo| BuINIOM 3|qeMO|je 3] : 310N s9nbay uodn aqejiene osje aie sueds poddns 13430 UO SPEo] BUIOM 3[GEMO][2 Y : 310N
ueds (Wz1) L' Jano sBy ‘peo painquisig Ajwuopun ueds poddns (302) IN9 Jon0 sBY ‘peoT paingulsia Ajuuojiun
[00]4" oocl 0001 008 009 (0]0)74 00c 0
000} 008 009 00y 00z 0 , , , , , , 0
L L L L 0 o 0 or
(Ain@ winipapy ‘HWWQO 1) \ N e 3 0C -
13ppe] 3|qed 161ens 0oL »\o\ o JoppeT 21 1BIens 159 P mw o)
o o pes s 8
\\ e R 09 5
e 9 e o 3
\ =
\ 5 08 3
o 3 > 06 3
.\\ 2 - 0oL =
= 05 e oLl
ocl
09 sl
ueds poddng/6% 66'928 - OZ1 VINAN ueds poddng/B Ly€l - O0C YININ

(¥43aav 379V dyd HO4d) ALIDOVAVYI AVOo1 ONIMIOM

(43aav 3719V d¥d HO04d) ALIOVAVYDI AvO1 ONIMYOM

"1sanbaJ uodn s|qe|ieAe os|e ale sueds Moddns J2Y10 UO Speo| Builom ajgemolje Y| : 90N 202 (60°9) 0z (g'8¥l) 00L m 10j0B4 A18JES G| UM pEO| BUpUOM WNWIUIW
g0z (609) 0z (ou) sz |2 SMOUS 8[ge] Ul UOoIJeolISSe|o pJepuels VINSIN

voz (609) 0z (ryL) 05
ueds poddns (491) ING"t 49A0 SBY ‘peo paingulsia Ajwiopun 9L (8¥) 91 | (g8r1) o0L ‘ueds poddns
a9l (L8v) 9l (L) 6L paubisap pue peo| a|qed JnoA o} Buipioooe
0021 0001 008 009 00V 002 0 VoL (z87) 9L ¥vL) 05 walsAs poddns Aeuy o|ged inok asooyn

, , , , , N ozl (98°€) 2L (8'8¥1) 00l
M 0 azl (99°€) 2t (911L) 62 "syuswalinbai
Vel (99°¢) 2l (vvs) 05 peo| Buiylom Jamo| 1o} a|gelins pue Ajnp
° oL 08 (vv2) 8 (g'gvL) 00l 18)ybI ‘|leysul 0} Ases pue isyyb| SEIN
(Ain@ Aneay ‘Hwwos L) g8 (vb2) 8 (9111 6L Aeu) a|qe) pajelopiad

JappeT ajged wbiens1so o V8 (Pv°2) 8 (r'v2) 0s
0 & . "$o|qeo JsInesy
nl% L€ 4ed () 100 (w/Bx) y/sq7 10} 9|geNNS ajow ‘Ayoedes peoj Buiom ybiH
o =1 uoneubisaq sse|n uedsg poddng peo Bupop J19ppe] 9|qe9
S 3 PR CLEELL0 /N 3 swo)sAg poddng ajqen

(3 — yjbus7 ueds
ov 3 ] inoj Buisooyn
5 N
< 05 SpeoT penquIsiq Ajuuogun

AneoH eix3 05}
09 AneaH 051
wnipajy 001

ueds uoddng/6 G1°G601 - D91 VININ

(43aav 3719vO dyd HO4d) ALIOVAVYI AVO1 ONIMIOM €661-1 94 VVYNIN

adAL | (ww)yybioH
fina ley apIS

Joppe] sauvs-9 Jo uoneubisag peo

ALIDVdVDI ONIAVO]




'$9|qe0 paj[elsul

Aue pue siappe| 8|qed ay) 0} abewep pue
Ainful [euosiad asneo ued shemyem se
slappe| 8|qeo Buisn “ieppe| Jo Aemyjiem e se
pasn aq 0} paubisap jou ale SIeppe| d|qe)

iONINYVM

H :8po)
dwejo umop
pioy 4eppe

-

dH *8po)
aje|d s01|ds a|qeisnipe
|eyuoZIoY JoppeT

0Q:8po)
nodolp Jappe

10 :3po9

duwej 19A00 Joppe]

\

JapINP B[qIXal} JappeT

a4 :3po9

Japinp JyBless Jappe]

ds :8po)

08§ '8po)
1900 pIjOS JoppET]

4H :3p0J
St .0€ .51 ajejd ojbue
|BjuoZII0Y Joppe]

dS :8po) d3:¥po)
ajeld s01ids sje|d pus Joppe
1ublens Jeppe

3dINO TVIINHO3A1 ¥3adv1 3719VI MVa:IN

dY :8po)
aje|d Jaonpal Jappe

OH :3po9
dijo umop pioy Jappe]

ajed soiids a|qeisnipe

dA :9poy

B0 JoppE]




G Series Ladder, Extra Heavy Duty

Length

Ladder rung type
Rung Spacing
Joint plate

Fastener

: M10x20L Carriage Bolt c/w Serrated

GRP Cable Ladder (Straight)

3000mm or 6000mm
Box or Channel
230mm or 300mm (9" or 12")

SS316 or GRP

Flange Nut (8 sets per joint plate) - SS316

150
=

Series ‘ H (mm) ‘ NEMA Rating Resin

8A/BIC, 12A/B/C, 150mm - | Polyester,

150mM 1 46aB/C, 20ABIC | 1000 mm [Phenolic, Acrylic

—— Definition of Product Code (HOW TO ORDER)

e.g. GSL PE 150 60 30 3B Rung Type
|— Rung Type
\— Length g Box (B)
Width
Duty
Height
Resin
Series Strut (S)
(Plain)
Product Code Width Weight
GSL PE 150 60 153 B 150 mm 3.06 kg/m
GSL PE 150 60 30 3B 300 mm 3.40 kg/m
GSL PE 150 60 45 3B 450 mm 3.73kg/m Strut (S)
GSL PE 150 60 60 3 B 600 mm 4.07 kg/m (Slotted)
GSL PE 15060 75 3B 750 mm 4.40 kg/m
GSL PE 150 60 90 3B 900 mm 4.73 kg/m




G Series Ladder, Heavy Duty

Length

Ladder rung type
Rung Spacing
Joint plate

Fastener

: M10x20L Carriage Bolt c/w Serrated

GRP Cable Ladder (Straight)

3000mm or 6000mm
Box or Channel
230mm or 300mm (9" or 12")

SS316 or GRP

Flange Nut (8 sets per joint plate) - SS316

NEMA Rating

150

Model ‘ H (mm) ‘

GSL

150 mm

8A/B/C, 12A/BIC,
16A/BIC, 20A/B

Resin

150mm-| Polyester,
1000 mm |Phenolic, Acrylic

—— Definition of Product Code (HOW TO ORDER)
e.g. GSLPE 15040303 B

-

Rung Type
Length
Width
Duty
Height
Resin
Series

Product Code

Width

Weight

GSLPE 15040153 B

150 mm

2.22 kg/m

GSLPE 15040303 B

300 mm

2.55 kg/m

GSLPE 15040453 B

450 mm

2.88 kg/m

GSL PE 150 4060 3 B

600 mm

3.22 kg/m

GSLPE 15040753 B

750 mm

3.55 kg/m

GSLPE15040903B

900 mm

3.88 kg/m

Rung Type

Box (B) @

Strut (S)
(Plain)

-

Strut (S)
(Slotted)




G Series Ladder, Medium Duty

Length
Ladder rung type
Rung Spacing

Joint plate

3000mm or 6000mm
Box or Channel
230mm or 300mm (9" or 12")

SS316 or GRP

Fastener

: M10x20L Carriage Bolt c/w Serrated
Flange Nut (4 sets per joint plate) - SS316

GRP Cable Ladder (Straight)

NEMA Rating

Model | H(mm) |

GSL | 100

mm

8A/B/C, 12A/BIC,
16A/B/C, 20A/B

150mm -

e.g. GSLPE 10060303 B

— Definition of Product Code (HOW TO ORDER)

=

Rung Type
Length
Width
Duty
Height
Resin
Series

Product Code

Width

Weight

GSL PE 10060 153 B

150 mm

2.11 kg/m

GSL PE 100 60 30 3 B

300 mm

2.45 kg/m

GSL PE 10060453 B

450 mm

2.78 kg/m

GSL PE 100 60 60 3 B

600 mm

3.11 kg/m

GSL PE 10060753 B

750 mm

3.44 kg/m

GSL PE 100 60 90 3B

900 mm

3.77 kg/m

Rung Type

Box (B)

Strut (S)
(Plain)

Strut (S)
(Slotted)




GRP Cable Ladder

Horizontal Elbow

ocooo o

Z o 0 N\
o|® °le
l' [} [} .‘
LA elo®
.: ° ° :.
W . .
L
o o
o|® %o
o AARAS ' . Z AU
S U tle?®
.: ° ° :.
h/ . .
L

Segment Degree :
30°, 45°, 60°, 90°

Standard Radius (R), mm:
150, 300, 450, 600, 900

Standard Width (W), mm :
150, 300, 450, 600, 750, 900, 1000

e.g. GHE PE 150 60 30 90 R3 B

=

— Definition of Product Code (HOW TO ORDER)

_—
=
[a'e
]
2
o
0
g =
0
o
_
o0

Rung Type
Radius

Segment Degree
Width

Duty

Height

Resin

Fitting Type
Series




M%RAK GRP Cable Ladder (Equal/Unequal Tee)

Standard Radius (R), mm :
150, 300, 450, 600, 900 — Definition of Product Code (HOW TO ORDER) ——

e.g. GTE PE 150 60 30 30 R3 B

Standard Width (W1/W2), mm :

150, 300, 450, 600, 750, 900, 1000 \_ Rung Type

Equal/Unequal Tee : mtﬂ wi

W1 = W2 -Equal (Part No : TE) Du'ty '

W1 # W2 - Unequal (Part No : TU) Height
Resin
Fitting Type
Series




GRP Cable Ladder (Crossover)

S

. B

. '
- .

=
.\y )

L
S

80 R

80

Standard Radius (R), mm:
150, 300, 450, 600, 900

Standard Width (W1/W2), mm :
150, 300, 450, 600, 750, 900, 1000

Equal/Unequal Crossover :

W1 = W2 - Equal (Part No : CE)
W1 # W2 - Unequal (Part No : CU)

——Definition of Product Code (HOW TO ORDER) ———

e.g. GCEPE 15060 30 30 R3B

80 R w2 | 80
L Rung Type
Radius
Width, W2
Width, W1
Duty
Height
Resin
Fitting Type
Series




M%RAK GRP Cable Ladder (Riser)

80

P

80

— Definition of Product Code (HOW TO ORDER)
e.g. GAO PE 150 60 30 90 R3 B

Rung Type
Radius
Segment Degree
Width

Duty
Height
Resin
Fitting Type
Series

=

— Definition of Product Code (HOW TO ORDER)
e.g. GFR PE 150 60 30 B

Segment Degree :

Rung Type 30°, 45°, 60°, 90°

Width Standard Radius (R), mm :

I

u
Height 150, 300, 450, 600, 900
E,ftﬂg Type Standard Width (W), mm :
Series 150, 300, 450, 600, 750, 900, 1000  FLEXIBLE RISER (Part No : FR)




1
\ 500 |

| W1

GRP Cable Ladder (Reducer)

500

ocooooooo

W1

LEFT HAND REDUCER

Standard Width (W1/W2), mm :
150, 300, 450, 600, 750, 900, 1000

(Part No : DL)

W
N LN i olq
oo I I oo S Py .
\. L]
o
W2 W2
N
l | | |
| | I I
l I | I
: | | |
g i 2
| | |
| | |
| | |
al | |
| w1 | w1
W
y .
‘. | | . o ° °°
. 9o ole * 'l .
= .. Py ffé
2 (7
7 22
L]
/ o W
W2 W2
[

[
[
|
|
coocoooo
— -

—
|
|
|
|
8 | 3
|
I I [
| I [
I ol [
| Wi | | Wi |
RIGHT HAND REDUCER CONCENTRIC REDUCER
(Part No : DR) (Part No : DC)
— Definition of Product Code (HOW TO ORDER)
e.g. GDRPE 1506030 15B
L Rung Type
Width, W2
Width, W1
Duty
Height
Resin
Fitting Type
Series

\\/



us)ed Joj Buipuad ,
salag
8po)
[eLSleN
SSaUNIY L
[ENEN
A REIELN 8po)
Gl 9s HIo b8 seleg
8poo leuajep I
1} weyl Jo4 eusiel WBieH apo) saleg
L (43040 OL MOH) P03 1onpoig jo uopued— | W6ieH ssoUyoyL BuStEN ot
ssouyoyL WP IuoieH BUGtEN
salieg WPM — Snipey wmm“«v_%hw._.._ mmwﬁw__”ﬂ E—
8000 0£ ) 05} 95 d39 B8 €4 0 61 061 95 009 B fo . fo
[EISEN €1'Z1') b Wy Jo4 0} Way 104 €61 05} 95 aso Gl 05} 9S 4SO
SSOUOIYL ’ ( ) ’ 1'9 wiay Jo4 6'8'G'Y'€'Z’| Wa) Jo4
apo9 Janpoid Jo uoniuyeq —
{30H0 0L MOH) 8p0J 1npoid Jo uohilag (¥3GHO 0L MOH) 3p09 39npoId J0 UoBUYE ——
g1 95 889 b
91 wayl Jo4 NN ebue|4 pejesss mssm‘_uw Buidde | INN oBue|4 pojelag § MaIoS
- 418S ¥IN 9 INN 8bue|4 pejeusg .
L (43040 0L MOH) 3p07 191poId 40 uoRIuaq— 210G XaH OEXOLIN JO 19S | :Joudise B Om o e e pesH ued OFXQN JO Sies Z :Jsusisey
EEIEN
8po) y d @/
uisay , foPPETT
1uBioH /
SSaUNOIY L Joyoelg
YPIM — 13A0D JO PuBlS
ybua |_ / 13109 Jappe
£0£ 02 054 3d 089 B <>
1 waylJo4 ol :9pod ol €s :9po) OH :2poD WH :2poD a4 :#pod
L (43040 OL MOH) 8P09 19nPoig 4o uopuyeq— l pasu| buny 91£8S Jo)oRIg 19A0D JO PUB)S di|9 umoq p|oH JappeT dwej) umoq pjoH Jeppe JapIAIQ @|q1x3]d JeppeT]
MBIOS NN obue|{ pejeuss Jaysep jejd4 g INN NN abue|4 pajeuss ¥ jjog NN abue|4 pajeuss B Jjog
buidde] J|as pIN JO SIS 9 :aus)se B }jog XaH 0ZX9IN JO S}es Z :Jeusjse Bunds /NN ebue|4 psjelsss B moiog abelue) 0ZxX0LW JO S)os { Jausiseq abelie) 0Zx0LIN JO SIS g auaise

pesH ued OFXQIN JO S}os g Joudjsey

19183g )
J4d
AV b

4H :8p0D 4/ :8p0D

0S 9pog 10 :9pod as :#po9 0S¥ ‘.0€ ‘.G - aeld aje|d
I dy9 104 punodwo) Buijesg 14 Jano) pijos Jappe] dwe|) Jano) Jeppe] J9pIAIQ YBiens Jappe] 9|Buy |ejuoziioH Jappe] a]Buy-1xa|4 |e21lIaA J9ppET]
NN abue|4 pejeuss B Jjog JnN abuel4 pajeuss B jjog NN abue|4 pajessg B MaIog NN ebue|4 pejeusss B jjog NN abuel4 pejelss ¥ jog NN obuel4 psjeuss R jjog abelie)
abelue) 0ZX0LIN JO S)es  eus)se abelue) 0zZx0LIN JO SIes ¥ Jeus)se peeH Ued OX9W JO S}Os Z :1ausjse abelued 0Zx0 LI JO Ssjes g uaus)seq abelue) 0Zx0L JO S)os g iausjseq 0ZX0LW JO S19S 8 / ¥ Iouaise
4 o 17
e 2
4
A o o
o o 4
v °, 0
> o
dA 8poJ dH ®pod
d¥ :#po)d d3 :8pod 0qQ :#pod aje|d 9o1ds ojeld 9o1/ds ds :8po)
4 8je|d Jaonpay Jeppe 8je|d pu3 1eppe 0l jnodouq 4eppe a|qejsnipy [ed18A Jappe] a|qejsnipy |ejuoziioH Jeppe] aje|d @o1|dg Jyblens Jeppe

(sa110ss929Yy) J9ppe] 3|ge) 4O




OH :8poJ a4 8pog as #pod WH :8pod
dwejo umop pjoy Aei| JapIAIp B|qixal} Aeil JapIAp Jybress Ael dwejo umop pjoy Aei|

-

-

dH :8po)
Ja|dnoo a|qeysnipe [ejuoziioy Aeil

'$9]qe9 pajlejsul Aue pue
shely a|qed ay) 0) ebewep pue Ainful
|euosiad asned ued skemyem se shel}
a|qeo Buisn Jeppe| Jo Aemyem e se
pasn aq o} paubisap jou ale skey} 8|qe)

iONINYVYM

dY :8po) d3 :8po0 :9po!
aje|d Jeonpai Aes ajed pus Aei| aje|d Buydnoo Em“_u_mwm m@w
0§ ¥po) 190 :8pod d/ 9po)
19A09) pljog Ael] dweyo Jan0d Aei| 18|dnoo a|qeisnipe eoaA Aei)

3AiNO TVIOINHOAL AVY L 3719VI MVi«N



Cable Tray
Length
Dimension

Coupler

Fastener

GRP Cable Tray (Straight)

]

3000mm or 6000mm
7mm x 20mm

SS316 GRP

M6x16L Carriage Bolt c/w Serrated Flange Nut
(4 sets per coupler) - SS316

Series | H (mm) | Width (W)

50 mm, 100 mm, 150 mm,
300 mm, 450 mm

100 mm, 150 mm, 200mm

Polyester, Phenolic,
Acrylic

— Definition of Product Code (HOW TO ORDER) —

PST PE 50 30 15 3 Product Code Width Weight
&9 | PSTPE 503053 50 mm 0.98 kg/m
’ Length PSTPE 5030103 100 mm 1.25 kg/m
Width PSTPE 5030153 150 mm 1.50 kg/m
Duty PST PE 5030 30 3 300 mm 2.24 kgim
Height
Resin
Series




GRP Cable Tray (Horizontal Elbow)

Segment Degree :
30°, 45°,60°, 90°

Standard Radius (R), mm :

100, 200, 300

Standard Width (W), mm :

50, 100, 150, 300, 450

— Definition of Product Code (HOW TO ORDER) —

e.g. PHE PE 50 30 15 90 R2

=

Radius

oooooo00

Segment Degree

Width

w

0000000

80

Duty
Height
Resin
Fitting Type
Series

GRP Cable Tray (Equal/Unequal Tee)

Standard Radius (R), mm :

100, 200, 300

Standard Width (W), mm :

50, 100, 150, 300, 450
Equal/Unequal Tee :

W1 = W2 - Equal (Part No : TE)
W1 # W2 - Unequal (Part No : TU)

W1

0000

—

—— Definition of Product Code (HOW TO ORDER) ——
e.g. PTE PE 50 30 15 15 R2

Radius
Width, W2
Width, W1
Duty
Height
Resin
Fitting Type
Series




Standard Radius (R), mm :
100, 200, 300

Standard Width (W), mm :
50, 100, 150, 300, 450

Equal/Unequal Crossover :
W1 = W2 - Equal (Part No : CE)
W1 # W2 - Unequal (Part No : CU)

GRP Cable Tray (Crossover)

Definition of Product Code (HOW TO ORDER) ——

e.g. PCEPE 50 30 1515 R2

=

Radius
Width, W2
Width, W1
Duty
Height
Resin
Fitting Type
Series




GRP Cable Tray (Angle Riser)

o

80

o

H R 80

o

INSIDE RISER (Part No : Al) OUTSIDE RISER (Part No : AO)

Segment Degree : - o
30°, 45°, 60°, 90° Definition of Product Code (HOW TO ORDER) ———

Standard Radius (R), mm : e.g. PAO PE 50 30 15 90 R2

L Radius
100, 200, 300 ‘ \— Segment Degree

Standard Width (W), mm : Width

50, 100, 150, 300, 450 Duty
Height
Resin
Fitting Type
Series




GRP Cable Tray (Reducer)

300
300
300

© 0 o e )0 o e () @
® ® ® ®
e 0000 e e 0000 e e 000000

| w1 | | w1 |
LEFT HAND REDUCER RIGHT HAND REDUCER CONCENTRIC REDUCER
(Part No : DL) (Part No : DR) (Part No : DC)

Standard Width (W), mm :
50, 100, 150, 300, 450

—— Definition of Product Code (HOW TO ORDER) ———
e.g. PDRPE 50 30 30 15

| L width w2
Width, W1
Duty

Height
Resin
Fitting Type
Series




GRP Cable Tray (Accessories)

Tray Straight Coupling Plate 1
Code: SP

Fastener: 4 sets of M6x16 Carriage
Bolt & Serrated Flange Nut

Tray Horizontal Adjustable 2
Coupler
Code: HP

Fastener: 4 sets of M6x16 Carriage
Bolt & Serrated Flange Nut

Tray Vertical Adjustable 3
Coupler

Code: VP

Fastener: 4 sets of M6x16 Carriage
Bolt & Serrated Flange Nut

Tray Straight Divider 4
Code: SD

Fastener: 2 sets of M6x16 Pan Head
Screw & Serrated Flange Nut

Tray Flexible Divider 5
Code: FD

Fastener: 2 sets of M6x16 Pan Head
Screw & Serrated Flange Nut

Tray Solid Cover 6
Code: SC

Fastener: 6 sets of M4 Self Tapping
Screw

For item 1,2,3

Definition of Product Code (HOW TO ORDER)

e.g. PSP S6 50 15

|— Thickness
Height
Material

For item 4,5
e.g. PSD S650153

For item 6

L Length
Thickness
Height

Code Material
Series Code
Series

e.g. PSCPE 5020303

| L Length
Width
Thickness

Height

Resin

Code
Series




GRP Cable Tray (Accessories)

Tray Cover Clamp 7
Code: CL

/ﬁ-
.

Fastener: 2 sets of M6x20 Hex Bolt &
Serrated Flange Nut

Tray Hold Down Clamp 8
Code: HM

Vg

Fastener: 1 set of M6x30 Hex Bolt &
Serrated Flange Nut / Spring Nut &
Flat Washer & M4 Self Tapping Screw

Tray Hold Down Clip 9

Code: HC

d

>

Fastener: 1 set of M6x16 Carriage
Bolt & Serrated Flange Nut & 1 set

of M6x30 Hex Bolt & Serrated Flange
Nut / Spring Nut & Flat Washer

Tray Reducer Plate 10
Code: RP

g

g

Fastener: 2 sets of M6x16 Carriage
Bolt & Serrated Flange Nut

Tray Horizontal Angle Plate 11
- 15°, 30°, 45°
Code: HF

TN

Fastener: 2 sets of M6x16 Carriage
Bolt & Serrated Flange Nut

Tray End Plate 12
Code: EP

<

g

Fastener: 2 sets of M6x16 Carriage
Bolt & Serrated Flange Nut

— Definition of Product Code (HOW TO ORDER)

Foritem 8, 9, 11 For item 7,10, 12
e.g. PHM S6 50 15 e.g. PCLS6 5015 15

Thickness ‘ [ Width
Height Thickness
Material Height

[

Code Material
Series Code
Series




Bolting Accessories

M10x30L HEX BOLT

M10x20L CARRIAGE
BOLT

Y&

M6x16L CARRIAGE BOLT

v

M4 SELF TAPPING
SCREW

<>
N
=

NS4

HEX SERRATED
FLANGE NUT

M8x30L HEX BOLT

LONG SHORT

CHANNEL NUT
SPRING NUT SPRING NUT  WITHOUT SPRING

Material : Zinc-plated, Galvanised and Stainless Steel available
on request.







Feb 2016

AN
///Il[!.f:\’.

/ —gm, =

/]
/[]]

N
N
W

“ International l[' "'

Ill‘ll\\\\\\\\\\\

4 Ilﬂl\\\\\\\.\\\

M

g

Energy

/L] ]]N
[ ]

TRI-STAR INDUSTRIES PTE LTD
SINGAPORE FACTORY
36 Joo Koon Road, Singapore 628988

Tel (65) 6266 3636

Fax (65) 6265 3635 / 6265 2801
Email sales@tristar.com.sg
Web www.tristar.com.sg

TRI STAR MIDDLE EAST
INDUSTRIES LLC

DUBAI FACTORY

Warehouse No.89, DIP Phase 2
Jebel Ali, Dubai, UAE

Tel (971) (4) 8847 707

Fax (971) (4) 8847 709

Email sales@tristar-mideast.com

TRI-STAR INDUSTRIES
(SHANGHAI) CO., LTD
SHANGHAI FACTORY

Tel (86 21) 5727 7070
Fax (86 21) 5727 1165
Email sales@tristar-cn.com

TRISTAR INDUSTRIES
KOREA LTD

SOUTH KOREA FACTORY
Tel (82) 070 8031 0699
Email sales@tristar-kr.com

i\ J
ﬁ“‘ _ o ‘“ﬁ-
"i“\y'll{n

4 de hnclo
A
)/
1]/

1] ]
1]/ T/
117 \1//

- Nz

SBN INDUSTRIES SDN BHD
Malaysia

JOHOR FACTORY

6 Jalan Penaga
Perindustrian Kota Putri
81750 Masai, Johor
West Malaysia

Tel (607) 388 2521

Fax (607) 388 2523

Email sales@sbnbiz.com
Web www.sbnbiz.com

KL OFFICE

Tel (603) 2288 1831 / 1832
Fax (603) 2288 1833

Email  sbnkl@sbnbiz.com

SARAWAK OFFICE

Tel (608) 565 1600

Fax (608) 565 7180
Email  sbnmiri@sbnbiz.com

TRENGGANU OFFICE

Tel (609) 859 7600
Fax (609) 859 7701
Email sbnkmm@sbnbiz.com

LINUS PRODUCTS INC
HOUSTON DISTRIBUTION CENTRE
5516 Clara Road

Houston, TX 77041

USA
Tel (1 713) 466 6466
(1713) 466 1814

Fax
Email sales@linusproducts.com

JL"' RN
\ A

AN
NN
B 0Lt P KOre
hanghaij

Ll e A
) | .ﬂﬁ dﬁ’ﬂ‘ﬂl‘l
ll | N |

\\ || ol [ ] ]
N/ |/
F )/

PT SOUTHERN TRISTAR
JAKARTA FACTORY

JL Jababeka Il, TOB Block C
No.17J Cikarang Industrial Estate
Cikarang, Be kasi 17550

Indonesia

Tel (62 21) 893 5162
Fax (62 21) 893 5163
Email sales@ptsts.com

BATAM FACTORY

JL Engkau Putri Komp
Executive Industrial Park
Block D2, No.11 Batam Centre
Batam 29434, Indonesia

Tel (62 778) 748 2263

Fax (62 778) 748 2262

Email batamsales@ptsts.com
TRISTAR AUSTRALIA PTY LTD

PERTH FACTORY

Unit 5/30 Howson Way

Bibra Lake, Western Australia 6163
Tel (61) 8 9494 2151

Fax (61) 8 9434 9206

Email sales@tristar-au.com



